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QUESTION 1

Which two plug-in spots can call the rating functionality using base package-supplied algorithm types? (Choose two.) 

A. Adjustment Type - Adjustment FT Creation 

B. Billable Charge Template 

C. Bill Segment Type - Bill Segment Create 

D. Adjustment Type - Generate 

E. Bill Segment Type - Bill Segment FT Creation 

Correct Answer: AE 

 

QUESTION 2

As part of the service order processing, the algorithm D1-CNSPINSDV (Connect SP and/or Install Device) determines if
a specific activity needs to be created based on the state of the service point. 

Based on the status of the service point, what can this algorithm create? 

A. Device 

B. Device Configuration 

C. Smart Meter Command 

D. Service Point 

Correct Answer: D 

Reference: https://docs.oracle.com/cd/E63094_01/PDF/SGG_SOM_Configuration_Guide_v2_1_0_3.pdf 

(18) 

 

QUESTION 3

Usage transactions can contain date breaks. Which is used to supply date breaks? 

A. the Deferred Monitor Calculation Algorithm 

B. the Usage Subscription Type 

C. the requesting system or user input 

D. the Usage Subscription BO 

Correct Answer: B 
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QUESTION 4

Within the application, operational devices can be assets or components. 

Which two statements are true about components? (Choose two.) 

A. Components are attached to assets. 

B. Components have a disposition that tracks their location and status. 

C. Components can be installed at locations. 

D. Components are not a class of assets. 

E. Components can\\'t have specifications. 

Correct Answer: AC 

 

QUESTION 5

Which business object performs critical validations whenever initial measurements are loaded? 

A. D1-IMDRetry 

B. D1-GenericIMDMain 

C. D1-IMDSeeder 

D. D1-IMDPreVEE 

E. D1-IMDPeriod 

Correct Answer: C 

Reference: https://docs.oracle.com/cd/E91711_01/PDF/MDM-SGG_Business_User_Guide_v2_2_0_2.pdf 

(83) 
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